Bolt to be tightened

NOTES:

1. All structural engineering drawings are to be read with the
specification and with all relevant Architect’s and Service
Engineer’s drawings and specifications.

Do not scale from this drawing in either paper or digital
form. Use written dimensions only. To check drawing has
been printed to intended scale this bar should be 50mm long
@ A1 or 25mm long @ A3:

ey
Al

dimensions are in millimetres and levels in metres.

75 Preformed hole in S during construction
) . . - to prestress timber
5 o M.ﬂ_m\_zmmﬂ:ﬂﬂwm_mmm ”Mﬂamm_ﬁ_u ﬁ%o_H_ﬁ strainer and strut
L to keep joints tight
and leave 20mm
o L e i o Il o S o M ¢ M o R o T o S ~ ] 115 upward camber of
— > T ° Steel PFC 125%x100 oak primary deck beam
M b = . strut
= g —> e from underside
1 £ M/Jr — — — — O — — — 0 — — — O — 1T — O — — 0 — — —0 — — — 0 _ u/
Timber deck
18mm bolt cut to fit Bridge 20mm Slot in Oak post cut to allow
hole s_ﬁh_s o:m::m_ structure for steel bracing member Amwﬂwﬂ%ﬂo UMMV_
and overhang beyond i i
ook ond o Sk 200 at end Steel compound MMMUMW_\MMMMDQ
ak end piece member (see . i | M16 bolts @
bolted to Smm PLAN 01 2 . K section 02) inserted section 02) mﬂ%lma | | 170 vertical ctrs
S €ha plate 1:10 - 15mm drainage holes into timber post : ; I~ | through elongated
with 2No. M10 . . and fixed with M16 j !
bolt Aw.: staggered@ 100c/c and fixed with M16 10 bolts @170 vert holes in steel plate
olts. (bolts bolts @170 vert. Q 0 ' to allow for tightening.
o trs, lded t g g
o) o i B e Floe ot bose i = Bl e,
] and fastened to m-u
- — . Z
Galvanised MS rod 20 dia to be welded to plate o\ —= Mﬂanmmmﬁmﬂ_%_a to head / head of post with .
8 at base. Excess thread at head to allow bolt to nut and washer —— —— — — — — N ——— —[— — — nut and washer Vo4 o4\
— be tightened during construction to prestress timber \ . 28x90 rtical ogk
and post construction after an agreed time period — VA \x 03 VA Z g VA mm_WA unHm 1 Uow_deMW ,WM_LMMSQOM
20 to accomodate any shrinkage of timber — —_— N “ — o5 — 150X75X18 steel Z with open gaps between
Boards screwed to ] L X | X X channel with 10mm (not shown for clarity of detail).
— deck beams with R | | | | N — plate welded between
— — 2 screws per board, tips of flanges. — 150x75 oak
@l o « - 125mm _DM. One hole Channel flush with H_HWH_H / decking
m 28x90mm vertical oak per pair of screws timber deck /
—-——— |boards as balustrade to be oversized,
0 Evi with open gaps between to prevent :7u 0110
(not shown for clarity shrinkage cracking. I
of detail).
) ’ I oo s
F o 3o
v Leo
150x75 PFC ® R [l S m.mfm
) 130x60 oak | £o%3°%5
o_o_m\o:%mma .R_m ] D single deck to —— _ - .- 59
mmoom\_x 8<<_Uom 150x75x18 galvanised or stainless fit inside PFC I m.mb.m.mk
welded to rod 85 steel channel (TBC) with 15mm holes Oak Deck ® 0/ .nlu.J”m..m mm
at head and Sk @ staggered 100c¢c/c for drainage 150 t.w.,m 5o
welded to web O | a8 290x180 oak a 252
of PFC at base % D 150x75 K Primary deck beam - primary ag m..um =
X oa fixed through flange deck beams L Op 35T
o B . (] n T Q
2 8 o decking mmOH_OZ OL- of PFC with M16 Q-0 cC
o , ~ bolt. Bolt to be mmo._-_oz Ou £e55fy
~| 3 1:10 tightened periodically, 1:10 L 100x100 MS 2o m%.m
D B 0 once shrinkage has washer plate T3 =
P 100x10thk occurred o 85°
of [ spacer £%«
— — > 7# — — > ; i_ plate
\ 75
8mm MS plates Sls , X
welded to inside o 4 o Ext'g brick ————————— o
Oak end piece , faces PFC flanges 1667 PLRN 01 — PLAN 01 el wall beyond
bolted to 8mm — o O
MS end plate _— 3
with 2No. M10 R
bolts. (Bolts 15 DIA drainage ——+—
holes either sided 15 15
wwe” SECTION 02 (STEEL COMPOUND e ir o o e 215 s
N X X wide
MEMBER SHOWN ONLY SECTION 01 ok handrail with N / stone_inte
= curved top with steel
1:10 1:10 mm surface. / \ reinforcement
nDurb ‘_OOX‘_OO 3 505 between balustrade posts. ﬁO —\OU_DOQ. mx_wﬁ_-\d@
. ) /r , . g,m 8 steel concrete lintel
50 (typical) 125%100 WMM MM_MowM&m _ 28x90mm vertical 50 (typical) L mxﬁ__@ brickwork € o washer / Sk \
O = to be oversized. °om oak boards as —— 290x180 Oak wa Ec plate | &
struts A < to prevent - balustrade with open Timber deck 5 | [
shrinkage cracking gaps between beams under Doors — I X
by others Anwm 150X100 Oak ‘_1
S A N S N R I N I 1 \;m \\\\\\\\\\ # - r -y LT 1 balustrade posts ,,, Steel compound
Doors by others , > x_/i_x x Ix Ix |x |ex %63 | < @ X x |Ix I'x Ix [x [x X B, x | x [x [[x _E X o [ . members inserted
Rl e Ry el el o el el e e e el e e el et e I i e e e et Rt et s I S within timber
\_ﬂﬂ = \ / posts, welded
_ : N to plate at base
End of timber 28x90mm vertical 8 and bolted to post
, decking supported oak boards as ] at head
. \ off steel angle balustrade with open 5 \ /
60x60x5 galvanised | gaps between | Timber Decking Lyl ———— 150x75x18 steel
RSA resin anchored || im .w.ﬂwOQO ng Lv channels fixed
to stone threshold AmonmAam.o_& - - 8mm MS plates @Hﬁ o down to deck
wi olts c/c 01 01 welded to inside 1] beams with M16
ith H12 bolts @ 300c/c Oak decking ro1 o (TACK ROOM) Ided to insid
with min 120 embedment \ faces of PFC & - = bolt
using Hilti HY=70 resin. ~ \ — flanges e
Installed strictly in accordance T \ i | | ; ; \ | A \ ;
with manufacturers guidelines / 5\ Awm_UO_M _I_Z_Av Deck beams fixed to \ P =t b b= 290180 Oak
(PROVENDER STORE) hor ou \ H\__Mm@ﬂoﬂ PFC with o deck beams
New stone lintel | \ -l
to replace existing \ 100x100 Sk A_oﬂ:: MS spacer
concrete lintel over \ R | <8 steel mmAUn_l_OZ >> plate
\ - washer
150x75 steel ° ° ° ° : 60x60x5 galvanised late 1:20 softwood support
p
channels Bl vy Iy eyl Enivs Bl iy | | — Tl iAot = <o =l — == = a—a i —1 —I— = — 1 ~l— T 1 RSA resin anchored Ext’ . structure for services
— =29 | EX T = =29 | =X CEn == =29 =) =N = = = | =S = = =% o e | | N e e e Y e W el N to stone threshhold CWQM« openings
RS N B —— E S Rl R RO R R B RO D s IR x@ww\wlx\\x\ o x| )| with H12 bolts @ 300c/c
LT 1 / N [ T [T | with min 120 embedment |
using Hilti HY=70 resin. = O
. . Installed strictly in accordance
Primary deck beams Allow for 150X100 Oak Decking fixed aoé.: at both ends with  manufacturers guidelines \ / \ /
cast into existing brick 3304215 290x180 Oak balustrade posts to deck beams with 2No. screws at each \ / \ /
walls. Brickwork made X Timber deck s by oM end of each plank (one hole per pair of Os_ m \ ! \ !
a. ft 25 i x150(dp) beams under A <+ ~ screws to be oversized)
good a mﬂm . mm air Yorkstone 401 \ /
ga@p around. beam padstone  APPROX. EQ APPROX. EQ APPROX. EQ \ /
with timber wedges M20 bolt ti \ /
. olt connecting
packed up tight rakin
g struts to deck
Umﬁ,smwm: wall and beam ﬂ;Z > Uoo:\dm..m:cﬁm S.ommmma Ext’g brick
Ext'g brickwork 1:20 40mm into mortise wall beyond .
wall . on top face of primary
beams s
New stone lintels APPROX_ EQ. APPROX. EQ APPROX. EQ Rintoondes O+
to replace existing ,
concrete lintels
/ \
/ \
180x125 / \
(PROVENDER STORE) Oak (TACK ROOM) Ocke_nandrail with N y,
Rail recessed into handrail S surface.
wall. 25mm  air S
gap around beam < N Joggles —— 28x90mm vertical 100x100 1505 between bolustroge posts.
with timber wedges 125x100 150X100 at head oak boards as x8 steel
packed up tight ook, MIN 85 ok MIN 85 of timber balustrade with open washer S =
between wall and beam struts strainer beam posts gaps between plate «,, /\ ﬁAN
| b 28x90mm vertical [
fﬂj = Y = JJ, oak boards as RV/ “uwoxxéoo
60x60x5 galvanised  — , aim ~ , balustrade with open | ax.
RSA resin anchored 7 50 min L\\V“ \ \_N&/ﬁ H\ gaps between \ / strainer beam
to existing brickwork
. Stee| compound Steel compound o
&"Mn H_M wm%mmmUW%%Mﬂm tig memterg (see i I One hole per tie 3w3_um_o_,w m \ /
using Hilti HY=70 resin. section | 02) i I pair of screws (see section 150x100 Oak
Installed strictly in accordance I I Mo be o<mﬁ1m_Nma, 02) \ / ,f balustrade posts
with manufacturers guidelines 150X100 I i i I O preven . | 40
Ohk -l Decking fixed down at both lends L shrinkage cracking. . . ,
401 posts i to] deck beams with 2No. |screws| at| each i 401 Timber Decking Lvl
end |of| each plank| (one hole per| pair| of 150x75 deep ~ +._.q_wo ,
_Hu_ NZ > = screws  to be oversized) H=E] ) ﬂ;Z > timber decking 25 _ I 1] _
aBU.m.ﬂwm ecking |Lvl 50 (typical) - == X A 90180 Ouk
i | = —— X a
- - =ik 1 i V4 N - - . . \\_ | ! | ! ! ! ! _\ deck beams
= AT T T TP PP P T PR PP PP T T P P P TR PR P TP T P PP Tl : - Decking fixed down at — T T e e e e e e
:T_H — i i i i i I I i i __ i i i I i i { I ] i I __ i i i I V I I i i ] both ends to deck beams
— with 2No. screws at each
- —_ 60x60x5 galvanised —
\j I I I I m\y\ : RSA ﬂommzoojo_.d_oﬂma Mzm of moo_\._ _u_ﬂjx one
UlBQQ amow vmoBm. ] AN || 1 I I ® to existing brickwork ﬁ% mconﬂﬂ%ﬂmﬁmm SCrews mmxsgwoa wcv_uol.
cast __{8. existing brick | 7 150 min 150x75x18 steel channels / \ with H12 bolts @ 300c/c mmOH_OZ ww structure for services
walls. Brickwork BQam | = wwxwﬁm _ _ fixed down to deck beams with _ 150x75 steel channel | N with min 120 embedment ==
good after. 25mm air / X mmm A S M16 bolts at o B welded to plate at using Hilti HY=70 resin. 1:20 —_
gap around beam washer ¥ each end < base of steel compound Installed strictly in accordance Opening under @) ?
with timber wedges plates tie member with manufacturers quidelines
packed up tight
between wall and beam \ Allow for (dp) M16 bolt connecting deck beams to tie Allow for (@)
330x215x150(dp members. Can be tightened from below 200x180 Ogk —— 330x215x150(dp
Ext’a brickwork Yorkstone m_|m<>|_l_oz o‘_ if required after w:%:xo@m across ._.m3wm1 amom M20 bolt ) Yorkstone
<<o__@ padstone 1:20 grain to improve appearance beams connecting raking struts padstone

to deck beams

DESIGN LOADS

IMPOSED LOADS=5KN/M2

LATERAL LOADS=1.59KN PER M RUN
ON HANDRAIL OR 1.5KN/M2 ON
PANEL

CONSTRUCTION

A) JOINTS TO BE CUT SO AS TO
CREATE AN UPWARD CAMBER ON THE
TWO MAIN BEAMS OF APPROX. 20MM,
BY TIGHTENING THE THREADED ROD
DURING ASSEMBLY AS DESCRIBED ON
THE DRAWING

B) ENSURE SPLINTERS ARE REMOVED

C) DRAINAGE HOLES TO BE KEPT
CLEAR

C) FIX DECK BEAMS WITH HEARTWOOD
FACING UPWARD

D) ENSURE THE 4NO. TIMBER END
PIECES TO DECKING (SEE SECTION

02) AND THE PRIMARY DECK BEAMS
ARE FIXED PRIOR TO INSTALLATION OF

TIMBER POSTS (WHILST THERE IS
ACCESS FOR BOLTS)

MAINTENANCE

BOLTS MUST BE CHECKED AND
TIGHTENED ON-—SITE PERIODICALLY
TO ALLOW FOR SHRINKAGE, AS
DESCRIBED ON DRAWING, ESPECIALLY
ON MAIN BEAMS. TIME SCALE TO BE
AGREED

FINISHING

SIZES OF TIMBERS SHOWN IS ACTUAL
MINIMUM REQUIRED IN FINISHED STATE,
REDUCED FROM LARGER SAWN
SECTIONS, IF REQUIRED.

ALL FIXINGS TO BE STAINLESS STEEL
OR MILD STEEL, HOT DIP GALVANISED
AS SHOWN. DISSIMILAR METALS TO BE
SEPARATED WITH ISOLATION WASHERS
OR SEPARATING MEMBRANE OF
SUITABLE APPROVED MATERIAL

ALL TIMBER TO BE GREEN OAK. OAK
TO0 BE UNFINISHED I.LE LEFT TO
WEATHER NATURALLY

B 19.06.15 SJ Revised to date

A 05.06.15 DF Revised where clouded
- 14.04.15 DF First issue for comment
Rev Date Issued | Amendment

Status

PLANNING

JOHNSTON

Consulting Civil & Structural Engineers

93 Great Suffolk Street
London SE71 OBX

T 020 7593 1900

F: 020 7593 1910
www.sinclairjohnston.co.uk

CAMDEN STABLES, NWT

TACK ROOM BRIDGE LINK
PROPOSED

Drawn D Firth Scale As Shown at A1l

Rev

B

Project No./Drawing No.

8370/401






